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ZZIE. T & mm
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P’ KEEIE MPa
Ki : 20X 3 HESMIZ & > TEE 3/R8 (FEBH)
Wt B0 Ic &5 1 kN/m?

(20m T TRBEEAR, 2.0 m ZHZ 3LV VLV AR)
Ki @ WEIZ L 2 FESMIC & - TR E 2108 (TESR)

Wi : fiff B2 K 5 1JE kN/m?
S EMBOL R X N/mm?
D : EEOIEUE mm
2 EEISHT AR mm
1.1 Xid 1 #d Lot mm
RO ST 0° 40° 60° 90° 120°
K1 BTE | 145X107°% | 1401076 | 132X1076 | 121X1076 | 108X 106
IR | 433X107° | 2811076 | 223X1076 | 160X1076 | 122x107°
Kt BT |76 X 1076
IR |11 X 1076

R HAMLOMEIE. 1 MPa = 1000 kN/m?> = 1 N/mm? T 5.
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&% 1. SHEIE. MFOTET5 ~ 300 13 TRDTNTOEA (REfiHIES (B
KHE) 2 MPa BUF. 80D 3 m BUN) . PFOME 350 ) OF 400 13 F&T
3HEE TR &N B ZM. IFOE 500 ~ 1000 (% F&RT 2 %, 3 FEE K
VAME TRENDFRMFTHHTZZ LA TE S,
2. IFOPE 75 ~ 150 @ E fEIE, PROmESHHES (§#AKE) 0.75 MPa
PTFTENRTOEMNE (18D 3mBIT) THHETZ L2 TES,

1.8 1.5 1.2 F80 m

IR fETIE ]

2.0 [1.5]1.0{0.75/0.45] 2.0 | 1.5 | 1.0 [0.75(0.45| 2.0 | 1.5 | 1.0 |0.75[0.45| (##/KIE) MPa
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3 (33333333333 |3]3]3 75~300
11333 (3|1 ]3]|3]3|3|]1|3]3|3]3 350
23|33 |32 33|33 |2|3|3]|3]|3 400
2333|3233 |3|3|2|3|3|3]3 450
2333|3233 |3|3|2|3|3|3]3 500
2|3 |44 42|83 |4]4]4]2|3|4)|4]4 600
2 3|3 |44 )2 |3 |4]4]4]2|3|4]|4]4 700
2 |3 |44 42 |3 |4]4]4]2|3|4]|4]4 800
2 | 3|4 |4|4|2|3|4 4,42 |3]4)]4]4 900
2 (3|44 |42 3|4 |4|4)2|3|4]|4]|4 1000
23|44 )4 )2 |3 |4]4]4]2|3|4)|4]4 1100
2123|442 |3 |4|4]4]2|3|4]|4]4 1200
2123|442 |3 |4]4]4]2|3|4]|4]4 1350
2|2 |44 42 |3 |4]4]4]2|3|4]|4]4 1500
2|2 |44 4 )2 |3 |4]4]4]2|3|4|4]4 1600
22|44 |42 3|4 |4|4)2|3|4]|4]|4 1650
212|444 )2 |3 |4]4]4]2|3|4)|4]4 1800
213 |3 |44 )2 |3 |4|4]4]2|3|4]|4]4 2000
212 |3 |44 )2 |3 |4|4]4]2|3|4]|4]4 2100
2123|442 |3 |4|4]4]2|3|4]|4]4 2200
212 |3 |44 )2 |3 |4|4]4]2|3|4|4]4 2400
2 2|44/ 4123|444/ 23444 2600
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